@RFEY (D)

m = ey 60/10D0 | 8o/10D | 80/200 | 100/200 | 100/30D | 12010D | 120/20D0 | 120/30D | 120/40D |
BEGEMERARER MPa 0.50
A - i m? 0.28 0.61 1.09 1.73 2.49 1.46 2.54 3.63 471
B H B B 5| kW[50 3.3/3.4 5.3 7.5/77 8.2 10.2 7.1 10.2 15.2 22.7
R AR B kgvF 16 32 61 91 133 73 139 207 274
bBEEATBMW|  kgh 150 300 500 1000 1500 750 1500 2000 2500
ATy v~ kW 3.7 5.5 2.2 a7 3.7 3.7 a7 _ 5.5 7.5
I7 -5 m? — — 1 1 1 1 2 3
= -1 # i 1 1 2 2 3 2 3 4
1N EATRTE | WXLXHmm | 420X740%340 490940490 £20X940X640 8203X940X 800
1HL)AREN B 12 18 23 29
150 VTN E ik 144 270 483 870
NKNOFmMERAN| B/YF 144 270 | 540 966 | 1449 870 | 1740 | 2610 | 3480
SRIKE (CBY) # T 130X 70X 20mmTE Y

® B B0/20C | 100/20c | 100/30C | 120M0C | 120/20c | 120/30C | 120/40C
EEERAESND MPa 0.50
A 24 (i m? 1.09 1.73 2.49 1.46 2 54 3.63 4.71
G=UT47—| R 20 40 50 20 50 80 100
® H BT H| kW50 9.4/9.6 11.2 13.2 9.0 13.9/13.2 21.1 28.6
AR EER R kgF 61 91 133 73 139 207 274
o B 1S B kg/h 500 1000 1500 750 1500 2000 2500
AT Ly Y — kW 2.2 3.7 3.7 3.7 3.7 5.5 7.5
I7— %>y me 1 1 1 1 1 2 2
H = B -4 2 3 1 2 3 4
1HUHRMEHHE | WXLXHmm | 490X940X490 £20X940X640 820940800
1HEYARRN B 18 23 29
1Y RS | @ 270 483 870
NOFEREHR| @yF 540 966 ! 1449 870 1740 | 2610 3480

AT 13021 70X 20mm T




